Proof Mini-Quiz Rev1ew of Mlstakes

Directions: Find the mistakes in the given proofs. Use a RED pen and neat handwntlng to explain

the mistakes:

1. Given: <1 =<4 a.

Prove: <2 —:’—_<5 |
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2. Given: <1 =<2

Prove: <1 + <3 =180
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3. Given: <1 and < 3 are supplementary
Prove: <2 =<5 v
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4. Given: <1 + <3 =180 a. b.

Prove: <1 =<2
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5. Given: 1= /2,/1=/3 .

Prove: AB | DC
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X is the midpoint of WY.
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1. X is the midpoint of WY 1. \< 1 5 e
Pt ;‘

1 2. Definition of Midpoint

2.

3.XY+YZ=XZ 3. \(\f\ \ 5 <
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7. Given: <1 and <2 are complements

<3 and <4 are complements
Prove: <1 = <4
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Statements Reasons

1. <1 and <2 are complements 1. F IR
<3 and <4 are complements SHVE

2.<1+<2=90, <3+<4=90

3.<2 =<3 3.
4, <1+<2=<3+<4 4,
5.<1+<2=<2+<4 5.
6.<1 =<4 6. \
\i CON €O
y < A m
3 Given: /. 4 and £ b are supplements. /3 :
L2=11 ) 7 P
Prove: £ 2=/,5 5
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Statements Reasons
1. <« a§ 3 Ot S = fast ¢ 1. a

2. k‘ o 2.Su 1<;1‘n\entiar consecutive interior angles form
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) } b4 6 150 parallel lines
3. S 3. Congruent alternate interior angles form
Lod =z 2 parallel lines
4, <3 =<5
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5. Substitution




9. Civers AB 2 DF
Proviz AC 2 OF
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2.AC=AB +BC
DF = DE + EF

2.
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3.DF=AB +BC

3. Substitution

4, - o
he 2DhE

Given: SU = LIt
T e LN
Prove: ST = NR
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Reasons
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2. Segment Addition (You should have 2
statements for this step)

3. ST+TU=LN+NR

3. Substitution
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5. Subtraction
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